g Jo.= e -
Zi 12 .
4 1777 weg X109 Afem™ = YrgE .
Xo Xp 9 wyr A
We pexio™ 35«10 ) ; s
; = 35 Wll 0
one-sds Abmyt v =2 3
10'7- Ws = Pn= 0.
Junction T ”bxplm
1.6xto"q- 3010 ,,bx,o" 3 7';Lm/$
We = e /.Axro' T
P 10" o
we= b
(\a) J- = Va L
e = Jaw orC5) R
T . [Bleg s T
j- < JauH Jo T
P e
Va Va
exp o7 < o0k %{ & Qan (199)
Ay, S 2 EL. puiol = 4xﬂﬂu'° = au0mV
R "q’iﬁzw\/ :
¢) :
EW il A’! ] _—I- AE° P
dx & A% e
N 3413@5& eV 3
S\OPC’:% E dEe 1 xip® ¢ - [ teV
t arear S B
Eﬂ wT d¥ om wWT
wT]
1. = ].I o -6 =
] L W e s o el VL [ 1 hm
@) : £ .Na NV ssco' o’
CJ = \/b;= kT On WA = o026 Tt =098V
alVs V) o t n* s
L%ﬂix n.ﬂxumo"‘*,¢ T [/—/" .
= b = -
2 (o8- (0] e % 2 Flem® = {,.fxnol 7k
o
= 0.65— fT—//um"
e) i ( 4 £sNA
2 S Va= 0‘7\/- C = 487\.1 =4-7.1 FF e
) 2 (Vhi- Vo) - s : bt /
s l\']}X 1° o = | =l T
x = 1\12 r
- | prur 1.7 FFjum” B
2.(0.7,'0"])
g Ve
Jutt = Jo 'exf%
i@ Vi 2 0.1
o= o vs Qs = ‘{,“pow%"-wa S LAl GrOT
Coc= Gp-Tn 211 A few®
. d1 = . v Va D n > 7
= 9% %}‘chb ’Z,-FMYKT j;_n—-—'f!\}_g ( ﬂ: Tn
4Vq We — e¥p ¥T =\ Doty i
b 1v € b 2 gl
i - : = (W *
"’_‘-'Ih = .-—-‘— ’l‘lx-’& % ;
o n = |. X0 i 4-8 zt E
TR oy Fijen
- 48 fF/
/Mm"

Vih




&) n type substrdle

Y - A ::.Cox
Lb) on o 5—DPF = fbxlo, F Comax
T-x - # i
) 25{;'5_,)_(__[.2——— =69 xt0 o™
3“2;(8-85”‘“’4“ - m"‘.',u[)—xc:mz = rxw" ) ld 5"‘0-'
Tox
eyl am
il By Lisies
Cox = Ef_’_*,a_:-f——-
o C 3P e P Cinp
By e aiof Cig oo ol Lt
miA C,‘ -(-C.de.? ; n Cm‘d.ae?
. - Cox = 4 Cdep
: é.* ‘? -—C—" +\ = 1
_E:_s_‘—- tn ™ 2 il
Cdef Wide, Lo
"
= 003
o wme e e O
Q: AT e T = .
P
C
@) L
P‘f gau i
Ef o e e
\
(e)
; %
Co):= WPF (‘, T/vx &;{524%)
Cdep= 15pPF

Ax 13 55T pF 4

Cmin: —_— =

T+1D




[}

a 7
N [0
28 ) IR X J.Ch, = ZVﬂﬁu—nT_mh = 2.0036 I —lb‘,;‘ = o0.8¢V-

= 0.6V

¢y Vo= Vet 2Bt Vox
Vile B ppi ieaae=ra e ¥t
e \'/1;:( 3 Z_Z:{,, = osaxi0! Vems I.;xlo‘V/{_n';I'f"“VﬂM
€)  Vag= -IV=Ve, 8m=0. & =0- £, =»
LJ) 2” i _\I/:,;s_ g oV : 4 \/Ap« i o.zx(oq' s = 25id? Viin
S g = 22103V

@ V=08V Vip =02V D [mer regm. § =43

4" W VSp
ID = /‘E Cpxz' ( VSq‘lle T E‘) VSD
Hb(Vg-\w)
5p. 10 o\g_o.;—o‘l) 0.2

RN
1+6( 0.8-08)

| goo g a0 W
{ . & (o\z)(s\z) = L_[-‘_‘I'—;-ﬂ o 18 MA

[+ 0.3 w3

n

) = dw‘-"q_ T Sa.‘f.
’ ) e b G ‘vrl:
| S Lo Gr Ty SVelY
! I = T leslV- W (V2 Ul

2 :
| yooi ' | o0
| 50.10 T = = €18
! ( Z-S'OJ) * [+ 032 I« 6 N

B
: : S 1to3(25-05)

|

| /

a 5. e 4 [fomV  _
| R e [s =tV |

i LOnA
—_———'_
Jﬂ, (ovpA

1 $ i kT boml/ 3 Ta




—
1 & — &y o il e I el w6 2e | eokila
T L T [
J j =2 oo GHE
d)) .;'T« OO 113 = 2606”&
-
LnB -~ ‘/UM
I8! (4= ,0—2 = (oD
| s
ol 3 o, | a_
* = 2 > l_ )
‘L) ol g L= _-M_]e— = l ( LP\B ) Z sy AN
T 2 7
J'szb. 1 ( o
Lng = '—‘ —Z—‘X CF)
(o0 = ' _L_ljj
g o b L o 2
Lc) o = —L < r d'T . r o = O\Qq;
11/3 b
T >00 Ty ?990[? o \' < \
de T T 75 7 Y
hg(0*)\ D, N& hb(l") 3
\'l;s?ob
|
gs Np t
L+ -;;-’93# ' Sne 0. 99507 lLoe 495
E
::,BP = 0, e*0q5

=
u

000445 x 3y [o']

]

I\LH?!;'XID'I) CW\-} ” . -




